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1. (a) What is dispersion? Explain the difference
between absolute and relative measures of

dispersiof. (3}

(b) In a certain examination, the average grade of all
students in class A is 68.4 and of students in class
E is 71.2. If average of both classes combined is
70, find the ratio of number of studénts in class A
to the number in class B. (4)

(c) For a normal distribution with mean 50 and

standard deviation 15, ﬁnd'Q, and Q,. (4)
OR "

(a) Explain various mathematical properties of

standard deviation. (3)

(b) A scooterist purchased petrol at the rate of Rs.
24, Rs. 29.50 and Rs. 36.85 per litre during three

successive years calculate the average price of
petrol |
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(i) If he purchased 150, 180 and 195 litres of

petrol in the respective years.

(i) If he spend Rs. 3,850, Rs. 4,675 and Rs.
5,825 in three years. Give reasons to support

yOur answer. (4)

(¢) Mean and coefficient of standard deviation of 100
items are found by a student as 50 and 0.1. If at
the time of calculation two items were wrongly
taken as 40 and 50 instead of 60 and 30. Find the

correct mean and correct standard deviation. (4)

() et B 27 v S e s e ¥ i
o e Fe) '
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st mer BY orl 9 s I3 71.2 31 AR I e
% dheg = Ber Bw we W T 70 T B w0
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R

(a) wrea 50 R W e 15 @ W e qeT & o

Q, ¥ Q, M Ml
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(i) aRt a8 w=m: adf ¥ 150, 180 3K 195 HR W
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(i) 3R =& 9 2ot A 3850, 4675 ) IR 58'2512[13'&

HE R N IR A e F o wgw A

(1) T T 100 TGA B AA R TH = rE 50

i 0.1 et 31 Reer I T D Aega H T

¥ 60 3R 30 N T 40 Ik 50 = R wm w8 A
IR 98 e B [ AR

2. (a) The first four moments of a distribution about the

value 4 are -1.5, 17, -30 and 108 respectively
calculate:

(i) Moments about mean

(if) Skewness
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(iii} Show whether the distribution is Leptokurtic
or Platykurtic (6)

(b) Total of the product of deviations of X and Y
series = 3044

Number of pairs of observations = 10

-170

Total of the deviations of X series

Total of the deviations of Y series = -20

Total of the squares of deviation of X series
= 8288

Total of the squareé of deviation of Y series
- = 2264

Find out the Coefficient of Correlati;an when the

assumed means of X series and Y series are §2

and 68 respectively. ) (5)
OR '

(a) For 50 students of a class the regression equation
of marks in statistics (X) on the marks in
Accountancy (Y) is 3Y-5Y+180=0. The mean
marks in Accountancy is 44 and variance of marks
in statistics is 9/16" of the variance of marks in
Accountancy. Find the mean marks in statistics
and the coefficient of correlation between marks
in two subjects'. ' . (6}

' P.T.O.
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(b) How does “Correlation” differ from “regression”.
State the utility of regression in field of economic

analysis. ' (5)

(=) ¥ 4% fae v @ Yo 5T T L1.5,17, 30
A 108 # TRee KT

(i) wrem & forg amget

(i) =

(iii) wefffa Afwe B dor ddmfs 2 o QdEls
(@) X IR Y sjaesll & feertl & I & W = 3044

e ® gm o ge =10

X s@Eer & feaed &1 W = -170

Il

Y jaen ® el w1 oW = 20
X wEer & e & o @ W = 8288
Yﬁ"{aar%ﬁaaﬁfa‘ua‘lﬁw@g=2254

WXW@TYW%.W@HWW: 82
AR 68 F W wEwEy TNE A R
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fwdl % s & 9 wEedy w § wE SR

(@) “wmEn ¥ wedey e R = Ao 317 snfE
Tageaor & & ¥ wasmer 9 STl w= 3wk BRR

3.. (a) Explain Time Reversal Test and Factor Reversal

Test. Do you think it is necessary that a good

index number should satisfy both of them? (5)

(b) Fit a straight line trend by the method of least

squares to the following data. Assuming that the

same rate of change continues, what would be the

pridicated carnings for the year 20147

Year 2005 | 2006 | 2007|2008 | 2009] 2010 2011 [2012
Earnings [38 |40 |65 |72 |60 |60 |87 |os
Rs. In Lakh)

- (6)
P.T.O.
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OR

(a) Exlain briefly the different components of time
series. Give some examples of the use of time
series in economic analysis. (5)

(b) An enquiry into the budget of the middle class
families of a certain city revealed that on an
average, the percentage expensés in the different
groups were:

Food 45, Rent 15, Clothing 12, Fuel and Light 8,
Miscellaneous 20. The group indices for current
year as compared with a fixed base period were ‘
410, 150, 343, 248 and 285 respectively. Calculate

the-cost of living index for the current year.

Mr. X was getting Rs. 2,400 in the base period
and Rs. 4,300 in the current year. State how much
he ought to have received as extra allowance to

maintain his former standard of living. (6)

(F) SelerHw e 3 IJURE IoREu gde S e
FRm T I AR T R o s e R uw
I IS W T AN W TR HE W

(@) I @ Ry ¥ feffae e & B 9 @
T i ety AR a8 T o e B wRad

T o W A B af 2014 @ Brv s < v v
Rt ?



564 9

L 2005 | 2006 2007- 2008 | 2009 | 2010 2di1 2012-
g 38 |40 |65 |72 |69 60l 87 |95
(qrel %)

)

(m)w%m%ﬁﬁauﬁaﬁﬁaqﬁmmm:
e frem ¥ wa Jee @ v B 5o s
afee

(@) v v ¥ 7w T ® uRal & wore F Adaw wer
R A B e R W@ ¥ ofes o B
THER . @ 45, R 15, wR 12, $um ok R
8, Rfaw 20, vz & = of & yowrs, =t mw
FAfy & T G FA W, F: 410, 150, 343, 248
AR 285 A g T D fag ST qEEw R T
wReem AR |

fieT X o smur = F 2400 & R @ & ot g wf
¥ 4300 %1 I R Nea-art B A B T @

% for AR we @ w { 3 e Pe ol m

P.T.O.
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4. (a) In a class of 75 students, 15 were considered to
be intelligent, 45 as medium and the rest below
average. The probability that a very intelligent
student fails in a viva-voce examination is 0.0085,
the medium student failing has a probability of
0.05, and the corresponding probability for a below
average student is 0.15. If a student is known to
have passed the viva-voce examination, what is
the probability that he is below average? 9

(b} In Delhi with 100 municipal wards, each having
approximately the same population, the distribution

of meningitis cases in 2005 was a follows:

Number of case 0 l 213 4

Number of 63 28 | 6 |2 | 1
wards

Fit a Poisson Distribution for the above data (6)
OR

(a) What is the purpose of shifting the trend origin in

time series analysis? Given the following equation;

Y =126.55 + 18.04X + 1.786X2 {(Origin 201 1-12)
Shift the origin to 2014, , (5)
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(b) In a manufacturing organization, the distribution

of wags was perfectly normal and the number of
workers employed in the organization was 5000.
The mean wages of the workers were calculated
as Rs. 800 p.m. and the standard deviation was
worked out to be Rs. 200. On the basis of the

information, estimate:

(i) The number of workers getting salary between
Rs. 700 and Rs. 900

(ii) Percentage of workers getting salary above
Rs. 1,000

(iii) Percentage of workers getting salary below
Rs. 600 (6)

75 oA & Fen A 15 H g ©f w= W@ @, 45

B WO o9 9 3R 3T W aed ¥ AR 3Ee wideen

B v SRt o A 0 ¥ s A T 2,
0.005 31 AUW TH R OF & FEEA B N WlHA
0.05 # 3k Ied wREd Mg ¥ H @ o N
0.15 ¥ 4R v o @ Aerw W ¥ T w@w @
& T T TREa T ¢ oW sew ¥ AR R0

P.T.O.
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(@) R ¥ 100 FRue 8 ¥, 7w € ¥ e o
@ # TR 2 I w1 2005 F FoF W TR

" \

Warwwm | o0l 1 |2 |3 )4

@ & 9@ 63| 28 (6 12 | 1

IGFT FiFE ® o W@ g W el P
Fan

(W) T sgEe R ¥ w3 g A wAaRe w9 W
S w37 et wfeww @ @

Y = 126,55 + 18.04X + 1,786X? (35 2011-12)
IEW A 2014 ¥ wHEER
(ﬁ)ﬁﬁwwwwm#wﬁmﬁmqjh
T ql aﬂz@mﬁﬁm&mﬁ_aﬁaﬁaﬁaﬂa‘w
5000 4t SRl & Mer wwRa ® 800% R W B

R ¥ wReem e mr @ sl Raw @ w w
T 200 % smam weme R YR W AFAT TR
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(i) sl &t g foFe 700 3R 900w & 99 ¥ Ra

I
(i) 1000 ® ¥ afdew JaT o= T SFAE B widwaa

(iil) 600® ¥ w0 IaT U q& A A e

5. Under an erﬁployment promotion programine, it is

proposed to allow sale of newspapers on the buses

" during off peak hours. The vendor can purchase the

newspaper at a special rate of Rs. 1.25 per copy and

sell it for a price of R. 1.60. Any unsold copies are

treated as a dead loss. A vendor has estimated the

following probability distribution for the number of
copies demanded during 150 days: |

Number of copies |15 | 16|17 | 18 | 19| 20

Number of days |10 | 25135 40| 25| 15

How many copies the vendor should buy for maximum
gain? Also calculate EVPL (11)

P.T.O.
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OR

s

(a) Write a note on Decision Tree Analysis with

~ suitable examples. 3)

(b) A Manager has two assistants and he bases his
decision on information supplied independently by
each of them. The probability that he. makes a
mistake in his thinking is 0.005. The probabilit;
that an assistant gives wrong information is 0.3.
Assumirnig that the mistakes made by the manager
are independent of the information given by the
assistants, find the probability that he reaches a

wrong decision. (4)
(c) If the probability of defective bold is 0.1. find :

(a)-the Mean and Standard deviation for the

distribution of defective bolts in a total of
500, and

(b) the moment Coefficients of Skewness and

Kurtosis of the distribution. : )
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